01. A thin wooden plate PQRS is made 07. At a certain point in a strained material, 13. Ifa body carries two unlike
by g|u|ng two pieces of wood a|ong there are two mutually perpendicular

PR a shown in the above diagram

stresses o, = 100 N/ mm? (Tensile) and principal stress what is the
. O 6, = 50 N/mm? (Compressive) maximum shear stress?
"KT a [Notation (+) ; compression () ]. What a. Half the difference of
are the values of the principal stresses . .
N itude of the principal

e N in N/mm? at that point?
S L_“,L R a. 100-50
- b. -100,50 f the
Ifo,=-30mpa,o, =10Mpaandr,, =0 ¢ 75,-25 the
then what is the d. -75,25

Normal stress on the surface PR?

a.

b
[
d

02. In a palne strain condition in the
xy plane, the strain components

-10 Mpa 08. For a state of plan =o,= 20
. =20 Mpa Mpa. W a values of th
110 Mpa maximum U hearing stre
. 20 MPa

and |a Fg um sheari
stress? N

a. (+10,20) M
b. (+10,10) Mpa

/4
associated with xy axes (#20,10)Mpa .
Areg, =80x10°, ¢, =100x 10 I+ 20,%0) ptia /‘
= -6 e
» by, =-800x 10 nohr’s circle" given above
What are the principal strain for these esponds to whic s of the
values ? ing stress cond S:
a. 981x10-%,-81x10° 2
b. 981x10-6,-81x10° :
c. 881x10€,71x10° [ ) i wo principal
d. 839x10°,-81x10°

03. In a plane strain in the xy plane,
normal strain in x and y directions
are equal to zero and shear strain is
equal to 3 x 10 . What is the value
f diameter of mohr’s circle strain for
these strain values ?
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o, = 200 N/m? in two mutually
erpendicular directions. The x, y
co-ordinates of the centre of the

a. 6x10°
b. 3x10° mohr’s circle are
c. 1.5x10°¢ a. (0,150)
d. Zero b. (150,0)
c. (-50,0)
04. For a case of plane stress, 6, = 40MN / d. (50,0)

m?g, =0,T1, =80 MN /m?. What a
the principal stresses and
orientation with x and y axes ?
. 6,=80MN /m?

. 0,=102.5MN / m?

06. In a plane strain
the shear strain =
normal strain in x and
0. for this state of strain,

. @, =100 MN / m?

o, =40MN /m?, 8, = 30°

o, =-60MN / m?, 8, = 32°

+ 5y) x 10°° unit

at is the shearing strains ?
a. 9x10¢
b. 7x10°®
¢ 5x10°¢
d. 3x10°

12. In a bi-axial strain system g,
and g,, what is the maximum
engineering shearing strain ?

: ’ a. § +g
diameter of the mohr’s of b. £ -&
strain o
a. 6x10° e Extéy
b. 8x10° T T
. 12x10%
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